BCNF/3NF Exercise 3/30/09
1. R = (A,B,C,D,E) and F = { AB  (  C, BE ( A, C  (  BD, D  ( B, DE  (  A}.

a. Find a canonical cover.

b. Find all candidate keys. 
c. Find a BCNF decomposition. Is it dependency preserving?
d. Give a 3NF, lossless and dependency preserving decomposition. Find the projected dependencies on the decomposed relations.
2. Let R = (A,B,C,D) and F = { B A, CA, D C}.
Let p be the decomposition { AB, AC, BD }.

a. Is this a loseless join? 
b. Find the projected dependencies for each of the relation schemes of p.
c. Does p preserve F?

3. Let R = ABC with functional dependencies F = A ( B , B ( C and decomposition {AB, AC}. Use the algorithm on p. 287 to determine whether A ( B and B ( C are preserved.

